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[Class : 11] m

SECOND REVISION EXAMINATION - 2025

Time Allowed : 3,00 Hours| CHEMISTRY [Max. Marks: 70
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PART -1

Answer the following: 15x1=15

7.5 g of a gas occupies a volume of 5.6 litres at 0°C and 1 atm pressure. The gas is

a) NO b) N0 ¢y CO d) €O,
Which of the following pairs of d-orbitals will have electron density along the axes?

a) dad, b) d,d, c) dadzp. d) d,,.dzz
The element with positive electron gain enthalpy is

a) Hydrogen b} Seodium ¢} Argon d) Fluorine
The hardness of water can be delermined by volumetrically using the reagent

a) Sodium thio sulphate b} Potassium Permanganate

¢} Hydrogen Peroxide d) EDTA

——-— i5 used in Cancer theraphy.

a) "Sr b) ¥Sr c] ™Sr d) '""Be
Maximum deviation from ideal gas is expecled from

a) CH,, b)  NH,, ¢l Hy A Nig

The values of AH and AS for a reaction are respectively 30 KJmoland 100 JK'mol*. Then the temperature

above which the reaction will become spontanecus is
a) 300K b} 30K ¢) 100K dj 20°C
In a chemical equilibrium, the rate constant for the farward reaction is 2.5 x 10° and the equilibrium

canstant is 50. The rate constant for the reverse reaction is

a)] M by 5 c) w2 x 107 dy Zx10°
Assertion : An Ideal solution obeys Raoull's [aw.
Reason In an ideal selution, solvent-solvent as well as solule - solute interactions are similar to

solute - sclvent interactions.
Both Assertion and reason are true and reason is the correct explanation of assertion.

a

b; Both Assertion and reason are true but reason is not the correct explanation of asserlion,
¢) Assertion is true but reason is false d) Baoth assertion and reason are false.
The bond angle of ammonia is --——-

a) 109°28 by 107918 c) 104%5 dy Mone of these
Sodium nitreprusside reacts with sulphide ion t© give purple colour due to the formaticn of

a) [Fe(CN),NOJ" b} [Fe(NO)CNJ c) [Fe(CN),NOS]* d) [Fe(CN),NOS)*
Homoalytic fission of covalent band leads to the formation of

a) Electrophile b} MNucleaphile ¢) Carbocation d) Free Radical

Which of the following compounds will not undergo Friedel - Cralts reaction easily?

a} Nitrobgnzene b} Toluene ¢} Cumene d) Xylene
Silver proplonate when refluxed with Bromine in carbeon tetra chloride gives
a) Propionlc acid b) Chioreethane ¢} Bromaethane d) Chlaropropane
ion deficiency in drinking water causes footh decay.
a) Chloride b} Bromide c) lodide d) Fluoride
PART - B

Answer any slx questions, Question No. 24 is compulsory. Gx2=12
State Hund's rule.
What 15 screening effect?
Explain the preparation of hydrogen using electrolysis?
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What is lattice energy?
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Define 1 - Bond?

Mention the varlous methods of chramatagraphy?
Explain Fnedel - Craft's reaction?

State law of mass action?

Complete the following reactions?

, THE A
) CHC +Mg ——> i) CHCI, + HNQ, ————>
PART -C
Answer any six questions. Question No, 33 is compulsory. 6x3=18

Calculate the equivalent mass of Potassium hydraxide,
Compare the structure of H,0 and H,0,7
Complete the reaclions,

MNa
i) CHsCH —m— iy CaO + 80, ——

It takes 182 sec for an unknewn gas to diffuse through a porous wall and 84 se¢ for N, gas to effuse at the
same temperature and pressure. What is the molar mass of unknown gas?
Explain coordinate covalent bond with suitable example?

ldentify the functional group in the following compounds,

a) Acetaldehyde b)  Dimethyl ather ¢} Methylamine

Explain electromenc effect?

Explain the preparation of the following compunds, i) Biphenyl i) Freon-12

The depression in freezing point is 0.24 k obtained by dissolying 1g NaCl is 200g water. Calculate Vant

Hoff factor, The molal depression constant is 1,86 k Kg mal™.
PART - D
Answer all the questions. 5x5=25
al i Explain Metal displacement reaclions? | (2)
ii) Calculate the oxidation number of underlined atoms of the following.  (3)
i) GO, iy  H,S0, i) MnO
[OR)
b) i) Give the electronic configuration of Manganese and Chromium? (2}
i) State and explain Pauli's exclusion principle. (3)
a) 0 lonisation potential af Nitrogen is greater than that of Oxygen. Explain?  (2)
i) Calculate the effective nuclear charge of 37 electron in Aluminium,  (3)
(CR)
by i)  Why alkaline earth metals are harder than alkale metals?  (2)
iiy  Write any three uses of hydrogen?  (3)
a) State the various statements of second law of Thermodynamies? {5}
(OR)
b) Deduce the Vant Hoff equation.  (3)
a) i) ~ What is meant by hybridisation?  {2)
i) What is molal depression constant? Does it depend on the nature of the solute?  (3)
(OR)
b) How will you detect the presence of carban and hydrogen in an organic compound?  (5)
a)  Write shart noles on Orho and Para directors in aromatic electrophillic substitution reaction?  (5)
(OR)
by (i) What are bindegradable and non-biodegradable pollutants?  (2)
(il Why halo arenes do not undergo nucleophilic substitution reaction readily?  {3)
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